RC 125, blue 2024 <2024><EU><F5003X2>

TANK, SEAT
69315
Pos Part Number Description Additional Text Quantity
1 94507013000HC Fuel tank preass. 1.00
2 94508049000EB TANK COVER JY181350 EB ORANGE 1.00
3 94507040000 SEAT ASSEMBLY FRONT suede variant 1.00
4 94507047000 SEAT ASSEMBLY PILLION 1.00
5 94507057020 pillion strap bracket RH 1.00
6 94507057010 pillion strap bracket LH 1.00
7 90507047041 SEAT DUMPER SOZIUS SEAT 7.00
8 93007040010 Seat cowl pad 4.00
9 94507013030 Plastic caps 1.00
10 J800000900700 collar 2.00
11 94507013010 Fuel tank, edge protection 1.00
12 J900000802502 Hexagon socket bolt M8x25 SS 4.00
13 90105017000 CLIP NUT M6 only for heavy duty model 2.00
14 J025060221 Bolt-Flange-Kad ST-D DIA-06 L- 2.00
15 90507012000 BEADING TANK LH 1.00
16 93008019010 Rubber bushing 2.00
17 90808043001 BOLT SOCKET M6X1XL 2.00
18 90808010050 BUSHING FRONT FENDER 2.00
19 90108060001 DAMPING RUBBER | RADIATOR PROT 6.00
20 J912050151 AH SCREW M5X14 BLACK 7.00




21 95829099000 Tool set 1.00
22 90507013005 SLEEVE TANK MOUNTING 1.00
23 90507013006 GROMMET TANK MOUNTING 1.00
24 J912060256 Hexagon socket screw, M6X25 1.00
25 94507008000 CAP TANK FUEL 1.00
26 94508062000 COVER BRACKET TANK 1.00
27 J800000800400 COLLAR 1.00
28 J912080303 hexagon socket screw M8X30 1.00
29 94507057000 Seat Belt 1.00
30 94507025020 Tape 1.00
31 94507025010 TAPE 1.00




